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Part |
Section A

Simulation Test One

Listening Comprehension (20 minutes)

Directions: In this section, you will hear 10 short conversations. At

Example:

the end of each conversation, a question will be asked
about what was said. Both the conversation and the ques-
tion will be spoken only once. After each question there
will be a pause. During the pause, you must read the four
choices marked A), B), C) and D), and decide which is
the best answer. Then mark the corresponding letter on
the Answer Sheet with a single line through the center.
You will hear:
You will read: A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.

From the conversation we know that the two were
talking about some work they had to finish in the evening.
This is most likely to have taken place at the office. There-
fore, A) “At the office” is the best answer. You should
choose [ Alon the Answer Sheet and mark it with a single
line through the center.

Sample Answer [A3[B][C][D]

1. A) at 10:00. C) at 11:00.
B) at 10:40. D) at 10:30.
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. A) 6 hours. C) 8 hours.

B) 2 hours. D) 4 hours.

. A) The clothes are for boys only.

B) The colors of the clothes go with both boys and girls.
C) The clothes are for girls only.

D) The colors of the clothes are for girls only.

. A) On the corner on your left.

B) On the main street on your right.

C) On the main street on your left.

D) On the main street next to the station.

. A) They are worried about children’s health.

B) They are worried about social manners.

C) They are worried about money.

D) They are worried about old people’s health.

. A) His family likes the sausage very much.

B) His family doesn’t like it at all.

C) He is not going to buy it because it is smoked.
D) He is going to buy six kilos.

. A) At an art exhibit.

B) In a supermarket.

C) In a shoe store.

D) In a clothing store.

. A) It is unfair that the man’s wife should stay home.
B) It is impossible to repair the pipes again. .

C) It is not the first time that the pipes have leaked.
D) It is a pity that the man’s wife can not go to the concert.
. A) The man’s wife. C) An airport clerk.
B) A railroad clerk. D) A passenger.
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10. A) He ate too much and needs to go to sleep.
B) He can’t wait to see his friends tomorrow.
C) The woman should wait until tomorrow to have her party.
D) He doesn’t want to go to the party because it starts late.

Section B

Directions: In this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both
the passage and the questions will be spoken only once.
After you hear a question, you must choose the best an-
swer from the four choices marked A), B), C) and D).
Then mark the corresponding letter on the Answer Sheet
with a single line through the center.

Questions 11 to 13 are based on the passage you have just heard.

11. A) A recipe for a soft drink.

B) The medicinal effects of cola.
- C) The history of cola. |
D) Soft-drink production.
12. A) As a soft drink. C) As flavored hard candy.
B) As a medicine. D) As a cooking oil.
13. A) He sold cola to doctors.
B) He was a drugstore clerk.
C) He developed the cola syrup.
D) He suffered from severe headaches.
Questions 14 to 16 are hased on the passage you have just heard.
14. A) In the 15th century. C) In this century.
B) In the 19th century. D) About 1910.
15.A) John Calcott Horslev. C) Louis Prang.
B) Boston. D) An Englishman.
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16. A) To celebrate birthdays.
B) To acknowledge holidays.
C) To commemorate birthdays, Christrnas and Easter.
D) To wish others well on almost any occasion.
Questions 17 to 20 are based on the passage you have just heard.
17.A) Those who are themselves spoiled and self-centered.
B) Those who expected to have several children but could only
have one.
C) Those who like to give expensive jewels to their children.
D) Those who like to give birth to their only children when they
are below 30. ”
18. A) Because their parents want them to share the family burden.
B) Because their parents are too strict with them in their educa-
tion.
C) Because they have nobody to play with.
D) Because their. parents want them to grow up as fast as possi-
ble.
19.A) Two types of only children.
B) Parents’ responsibilities.
C) The necessity of family planning.
D) The relationship between parents and children.
20.A) They have no sisters or brothers.
B) They are overprotected by their parents.
C) Their parents expect too much of them.

D) Their parents often punish them for minor faults.
Part | Reading Comprehension (35 minutes)
Directions: There are 4 passages in this part. Each passage is fol-

lowed by some questions or unfinished statements. For
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each of them there are four choices marked A) ,B) ,C)
and D). You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with a sin-
gle line through the center. 37&’
Questions 21 to 25 are based on the following passage:
There have been some new developments in a continuing mys-
tery we have reported about many times. The mystery involves a
change in the atmosphere a hole, or thinning, of the ozone( &

%) in the atmosphere over Antagctica. Scientists were not sure what
was causing it. ’m\

Ozone is a three-atom fo oxygen gas. It is found both in

the air we breathe and in the up e. Near the earth, o-
zone in the air is a danger to life. It is a pollutant. But ozone found i
’ 10 kilometers to 50 kilometers up in the atmosphere protects*l{@ |
earth. Ozone forms in the atmosphere through the action of so r_%-‘
Q«EK‘X\ diation. Once formed, the ozone blocks harmful radiation from—%
ing the earth. Scientists say a decr-e:sc—: in ozone and an increase in the
harmful radiation will cause many more cases of skin cancer and will
harm crops, animals and fish. \_——
Why has the ozone problem developed? No one knows for sure.
But scientists say _t_h@glﬁc;\is very strong that the chlorine<in chlo-
i{;\ }oﬂuorocarbons( B EHJZ) is causing much of the problem.
7 Chlorine is Teleased into the air from the chlorofluorocarbons
®/ or CFCs -m—in plastic, air conditioners and spray cans.
The use of CFCs has greatly increased worldwide since 1960 and is

continuing to increase. The destruction of the ozone in the atmo-

sphere also has increased.
An international effort is being made to halt the loss of atmo-
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spheric ozone. But many experts fear the effort will not produce re-
sults fast enmégto prevent harm to life on earth. { Thirty-one nations

last year (1987) calling for a /red&c,tio\n/iu the

worldwide production of chlorofluorocarbons. It was praised at the

negotiated a

time as a major step in halting further destruction of the ozone. Cuts
in the present production of CFCs will mue mid-1990s.

However, most scientists now agree destruction of the ozone will
continue for decades. They say this will happen even though indus-

tries and governments do their best to control the damage.

Harmful chemicals take from 7.1q 10 s to rise up into the at-
mosphere. Damage from m@@%ﬁ'ﬁa—s’tﬁdmde
still has not been felt. overnment scientists say more than two times
the amount of these gales will be in the atmosphere before the levels
stop rising.)

Scientigts also say damage to ozone will continue because of the
long life of the chemical gases released into the atmosphere. Scientists
point out }mo]pmle of chlorine yemains in the atmosphere for as long

as 100 yéa:s. During that time, it destroys tens of thousands of ozone
molecules.
v 21. Which of the following is NOT true?
A) Ozone is a three-atom form of oxygen gas. -~
B) Ozone is a solar radiation. 4
C) Ozone in the air near the earth is a danger to life.
D) Ozone in the upper atmosphere protects life on earth.
. 22. The passage probably was written in .
A) 1960 B) 1990 E)\1987 1988
ﬁ. Even though industries and governments do their best to control

the damage the destruction of the ozone will continue for decades
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A) because of the long life of the chemical gases released into the
atmosphere
B) because the effort will not produce results fast enough to pre-
vent harm to life on earth
C) because cuts in present production of CFCs will begin in the
mid-1990s ‘
D) because of all of the above
C 24. Damage from the increased us_e;o\f_giCs in 1995 would be felt at
least in
A) 1996 B) 2000 C) 2005 D) 2010
25. After reading the passage one probably feels .
A) sad B) relieved \C/), concerned D) curious
Questions 26 to 30 are based on the following passage:

-

\
By far the most common snake in Britain is the adder. In Scot-
—— *

land, in fact, there are no other snakes at all. The adder is also the
only British nake with a poisonous bite. It can be found almost any-
where, but prefers sunny hillsides and rough open country, including
high ground In Ireland there are no snakes at all.

Most people regard snake bites as a fatal misfortune, but not all
bites are serious, and very few are E_t‘al_ metimes attelr\npts at e-
mergency treatment turn out to be more dangerous than the bite it-

self, !thh amateurs heroically but mistakenly, trying do-it-yourself

and other unnecessary measures.
All snakes have sm’alL_tg@, so it follows that all snakes can
bite, but only the bite of the adder presents any danger. British

“
snakes are shy animals and are far more frightened of you than you

could possibly of them. The adder will a only if it feels threat-
——
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_ened, as can happen if you take it by surprise and step on it acciden-
tally or if you try to catch it or pick it up, which it dislikes intensely.
If it hears you coming, it will normally get out of the way as quickly
as it can, but adder cannot move very rapidly and may attack before
moving if you are very close. )

The effect of a bite varies considerably. It depends upon several
things, one of which is the body-weight of the person bitten. The
bigger the person, the less harmful the bite is likely to be, which is
why children suffer far more seriously from snake bites than adults.
A healthy p§son will also have better resistance against the poison.

Very few people actually die from snake bites in Britain, and
though these bites can make some people very ill, there are probably
just as many cases of bites having little or no effect, as there are of
serious illness.

26. Which of the following statements is qul;{rue? C

A) The adder is the only poisonous snake in Britain. v

B) In Scotland there are no other snakes except the adder. v

C) Snake bites seem more dangerous than they actually are.

D) People’s attempts at emergency treatment are sometimes un-

necessary. hd
27. We are told that British snakes are
\& afraid of human beings

B) poisonous including the adder

C) dangerous except the adder

D) friendly towards human beings
28. When will the adder not attack you?

A) When you try to catch it.

@/When you are some distance away from it.
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C) When you happen to step on it.

D) When you try to pick it up.

29. If an adder hears you coming, it will usually ) 2 .

A) attack you immediately

B) disappear very quickly

Q) wait to frighten you x

\%ve out of the way
30. According to the passage, a snake bite is .
A) more harmful to a healthy man than to a sick man
@/I’ess harmful to an adult than to a child

C) more dangerous than any serious illness

D) always fatal in Britain > A
Questions 31 to 35 are based on the following passage:

Many breakthroughs in science, engineering and the arts blend
ideas from different fields. Consider “the Two-String Problem™ .
Two widely separated strings hang from a 'Jé mg. Even though you
can’t reach both at once, is it possible to tie their ends together, us-
ing only a pair of pliers? %iﬂ

One university student found- the solution almost immediately.
He tied the pliers to one string and set it in }ng_gi_c_)z like a pendulum
(##8). Asit swung back and forth, he walked quickly to the other
string and Egv it as far forward as it would reach. Then he caught
the swinging string when it passed near him and tied the two ends.

Asked how he had solved the problem, the student explained he

had just come from a physics class on pendulum motjon. What he had

. NSEITT
learned in one context tr: ed to a completely different one.
This principle works outside the laboratory as well. A friend told
—_— .« . . “
me how she gets her two boys to divide a cuprake exactly in half. “1
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tell them that one will do the cutting and the other will select
whichever half he wants. The first child always cuts §t/r§'§1££‘10wn
the middle so he won'’t get cheated.”

I asked how she came up with this wonderful idea. “I sawa TV
program on international negotiation.” she said.

Rubbermaid Inc. recently W include
office furniture manufactured using the same blow-molding technique
that the company uses to produce small plastic items for the home.
Bud Hellman, a former Rubbermaid executive, came up with the idea
while touring a Rubbermaid plant where picnic coolers are manufac-
~ tured. “If top management hadn’t encouraged us to look at other
technologies in the company,” says Chuck Hassel, another Rubber-
maid executive, “none of this would have happened;y

To enhance your creativity, learn something new. If you're a
bﬂ.er , take up dancing. If you're a nurse, try the course in mythol-
ogy. Read a book on a subject you know little about. Change your

daily newspaper. The new will interconnect with the old in novel and

potentially fascinating ways. Becoming more creative is really just a
e———— - e

er of paying attention to that endless flow of ideas you generate,

and learning to capture and act upon the new that’s within you.

31. “The Two-String Problem” was solved by a university student

who used the method he had just learned o) .
-A)/,. in his chemistry class

\B)/ in a text
C) in the laboratory
D) in the same principle

32.1In paragraph 4 the last sentence “he won’t get cheated” means

that )



